6363 Sunset Blvd | Hollywood, CA | 90028 | 323.860.0789 | www.lafilm.edu

EDUCATIONAL EXPENSE ADDENDUM

FOR ALL STUDENTS ENROLLING IN THE MARCH 2017 TERM AND LATER

CAMPUS DEGREE PROGRAMS - DOMESTIC/U.S. STUDENTS

Program	Credit Hours	Tuition per Credit Hour	Total Tuition	Textbooks ¹	Technology Fee ²	TechKit ³	STRF⁴	Equip. Deposit⁵	Grad Fee	Total Tuition & Fees ⁶
Computer Animation, A.S.	66	\$606	\$40,000	\$900	\$0	\$4,000	\$0	\$400	\$20	\$45,320
Film, A.S.	60	\$717	\$43,000	\$600	\$400	\$4,500	\$0	\$400	\$20	\$48,920
Music Production, A.S.	63	\$500	\$31,500	\$600	\$400	\$4,200	\$0	\$400	\$20	\$37,120
Recording Arts, A.S.	60	\$500	\$30,000	\$700	\$400	\$3,600	\$0	\$400	\$20	\$35,120
Entertainment Business- B.S. Completion	60	\$500	\$30,000	\$500	\$400	N/A	\$0	\$40	\$20	\$30,960
Animation, B.S.	120	\$625	\$75,000	\$900	\$0	\$4,400	\$0	\$400	\$20	\$80,720
Entertainment Business, B.S.	120	\$450	\$54,000	\$500	\$600	\$3,400	\$0	\$400	\$20	\$58,920
Film Production, B.S.	120	\$650	\$78,000	\$600	\$600	\$5,000	\$0	\$400	\$20	\$84,620

ONLINE DEGREE PROGRAMS - ALL STUDENTS

Program	Credit Hours	Tuition per Credit Hour	Total Tuition	Textbooks ¹	Technology Fee ²	TechKit ³	STRF⁴	Total Tuition & Fees ⁶
Music Production, A.S.	60	\$525	\$31,500	\$400	\$400	\$4,200	\$0	\$36,500
Digital Filmmaking, B.S.	120	\$425	\$51,000	\$400	\$600	\$10,500	\$0	\$62,500
Entertainment Business, B.S.	120	\$425	\$51,000	\$400	\$600	\$3,400	\$0	\$55,400
Graphic Design, B.S.	120	\$425	\$51,000	\$400	\$600	\$4,900	\$0	\$56,900

CAMPUS DEGREE PROGRAMS - INTERNATIONAL STUDENTS

Program	Credit Hours	Tuition per Credit Hour	Total Tuition	Textbooks ¹	Technology Fee ²	TechKit ³	STRF⁴	Equip. Deposit⁵	Grad Fee	Total Tuition & Fees ⁶
Computer Animation, A.S.	66	\$667	\$44,000	\$900	\$0	\$4,000	\$0	\$400	\$20	\$49,320
Film, A.S.	60	\$788	\$47,300	\$600	\$400	\$4,500	\$0	\$400	\$20	\$53,220
Music Production, A.S.	63	\$550	\$34,650	\$600	\$400	\$4,200	\$0	\$400	\$20	\$40,270
Recording Arts, A.S.	60	\$550	\$33,000	\$700	\$400	\$3,600	\$0	\$400	\$20	\$38,120
Entertainment Business- B.S. Completion	60	\$550	\$33,000	\$500	\$400	N/A	\$0	\$40	\$20	\$33,960
Animation, B.S.	120	\$688	\$82,500	\$900	\$0	\$4,400	\$0	\$400	\$20	\$88,220
Entertainment Business, B.S.	120	\$495	\$59,440	\$500	\$600	\$3,400	\$0	\$40	\$20	\$64,000
Film Production, B.S.	120	\$715	\$85,820	\$600	\$600	\$5,000	\$0	\$400	\$20	\$92,440

¹ Student may opt-out and purchase textbooks independently. Textbook fee is non-refundable once Textbooks are received by student.

Student may opt-out and purchase textbooks independently. Textbook fee is non-refundable office Textbooks are received by student.
The Technology Fee is non-refundable.
Non-refundable once TechKit received by student.
The current Student Tuition Recovery Fund (STRF) assessment rate is zero (\$0) per \$1,000. Please see the STRF policy below.
The equipment deposit will be refunded at the end of the program if student has no fines for late or damaged equipment.

⁶ Refunds, if any, prorated if student withdrawn prior to program completion (see Refund Policy for details).

6363 Sunset Blvd | Hollywood, CA | 90028 | 323.860.0789 | www.lafilm.edu

ESTIMATED TUITION & FEES BY PERIOD OF ENROLLMENT/SEMESTER

CAMPUS PROGRAMS - DOMESTIC/U.S. STUDENTS

Computer Animation, A.S.	Semester 1	Semester 2	Semester 3	Semester 4	Semester 5	Program Total
Tuition	\$9,090	\$9,090	\$9,090	\$9,090	\$3,640	\$40,000
Security Deposit	\$400	\$0	\$0	\$0	\$0	\$400
TechKit	\$4,000	\$0	\$0	\$0	\$0	\$4,000
Textbooks	\$250	\$400	\$250	\$0	\$0	\$900
Technology Fee	\$0	\$0	\$0	\$0	\$0	\$0
Graduation Fee	\$0	\$0	\$0	\$0	\$20	\$20
Total per Semester	\$13,740	\$9,490	\$9,340	\$9,090	\$3,660	\$45,320
Film, A.S.	Semester 1	Semester 2	Semester 3	Semester 4	Semester 5	Program Total
Tuition	\$8,600	\$8,600	\$12,183	\$9,317	\$4,300	\$43,000
Security Deposit	\$400	\$0	\$0	\$0	\$0	\$400
TechKit	\$4,500	\$0	\$0	\$0	\$0	\$4,500
Textbooks	\$250	\$100	\$250	\$0	\$0	\$600
Technology Fee	\$200	\$0	\$200	\$0	\$0	\$400
Graduation Fee	\$0	\$0	\$0	\$0	\$20	\$20
Total per Semester	\$13,950	\$8,700	\$12,633	\$9,317	\$4,320	\$48,920
Music Production, A.S.	Semester 1	Semester 2	Semester 3	Semester 4	Semester 5	Program Total
Tuition	\$6,500	\$6,500	\$6,500	\$8,500	\$3,500	\$31,500
Security Deposit	\$400	\$0	\$0	\$0	\$0	\$400
TechKit	\$4,200	\$0	\$0	\$0	\$0	\$4,200
Textbooks	\$250	\$0	\$250	\$100	\$0	\$600
Technology Fee	\$200	\$0	\$200	\$0	\$0	\$400
Graduation Fee	\$0	\$0	\$0	\$0	\$20	\$20
Total per Semester	\$11,550	\$6,500	\$6,950	\$8,600	\$3,520	\$37,120
Recording Arts, A.S.	Semester 1	Semester 2	Semester 3	Semester 4	Semester 5	Program Total
Tuition	\$6,000	\$8,000	\$7,000	\$6,000	\$3,000	\$30,000
Security Deposit	\$400	\$0	\$0	\$0	\$0	\$400
TechKit	\$3,600	\$0	\$0	\$0	\$0	\$3,600
Textbooks	\$250	\$0	\$250	\$200	\$0	\$700
Technology Fee	\$200	\$0	\$200	\$0	\$0	\$400
Graduation Fee	\$0	\$0	\$0	\$0	\$20	\$20
Total per Semester	\$10,450	\$8,000	\$7,450	\$6,200	\$3,020	\$35,120

Entertainment Business, B.S. Completion	Semester 1	Semester 2	Semester 3	Semester 4	Semester 5	Program Total
Tuition	\$6,000	\$6,000	\$7,500	\$7,500	\$3,000	\$30,000
Security Deposit	\$40	\$0	\$0	\$0	\$0	\$40
TechKit	\$0	\$0	\$0	\$0	\$0	\$0
Textbooks	\$200	\$0	\$200	\$0	\$100	\$500
Technology Fee	\$200	\$0	\$200	\$0	\$0	\$400
Graduation Fee	\$0	\$0	\$0	\$0	\$20	\$20
Total per Semester	\$6,440	\$6,000	\$7,900	\$7,500	\$3,120	\$30,960

6363 Sunset Blvd | Hollywood, CA | 90028 | 323.860.0789 | www.lafilm.edu

Animation, B.S.	Semester 1	Semester 2	Semester 3	Semester 4	Semester 5	Semester 6	Semester 7	Semester 8	Semester 9	Program Total
Tuition	\$9,375	\$9,375	\$9,375	\$9,375	\$7,500	\$7,500	\$7,500	\$7,500	\$7,500	\$75,000
Security Deposit	\$400	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$400
TechKit	\$4,400	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$4,400
Textbooks	\$250	\$400	\$250	\$0	\$0	\$0	\$0	\$0	\$0	\$900
Technology Fee	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$0
Graduation Fee	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$20	\$20
Total per Semester	\$14,425	\$9,775	\$9,625	\$9,375	\$7,500	\$7,500	\$7,500	\$7,500	\$7,520	\$80,720
Entertainment Business, B.S.	Semester 1	Semester 2	Semester 3	Semester 4	Semester 5	Semester 6	Semester 7	Semester 8		Program Total
Tuition	\$6,750	\$6,750	\$6,750	\$6,750	\$6,750	\$6,750	\$6,750	\$6,750		\$54,000
Security Deposit	\$40	\$0	\$0	\$0	\$0	\$0	\$0	\$0		\$40
TechKit	\$3,400	\$0	\$0	\$0	\$0	\$0	\$0	\$0		\$3,400
Textbooks	\$200	\$0	\$200	\$0	\$100	\$0	\$0	\$0		\$500
Technology Fee	\$200	\$0	\$0	\$200	\$0	\$0	\$200	\$0		\$600
Graduation Fee	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$20		\$20
Total per Semester	\$10,590	\$6,750	\$6,950	\$6,950	\$6,850	\$6,750	\$6,950	\$6,770		\$58,560
Film Production, B.S.	Semester 1	Semester 2	Semester 3	Semester 4	Semester 5	Semester 6	Semester 7	Semester 8	Semester 9	Program Total
Tuition	\$7,800	\$7,800	\$11,050	\$8,450	\$7,800	\$9,750	\$9,750	\$7,800	\$7,800	\$78,000
Security Deposit	\$400	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$400
TechKit	\$5,000	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$5,000
Textbooks	\$250	\$100	\$250	\$0	\$0	\$0	\$0	\$0	\$0	\$600
Technology Fee	\$300	\$300	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$600
Graduation Fee	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$20	\$20
Total per Semester	\$13,750	\$8,200	\$11,300	\$8,450	\$7,800	\$9,750	\$9,750	\$7,800	\$7,820	\$84,620

ONLINE PROGRAMS - ALL STUDENTS

Music Production, A.S.	Semester 1	Semester 2	Semester 3	Semester 4	Semester 5	Program Total				
Tuition	\$6,300	\$6,825	\$6,300	\$8,925	\$3,150	\$31,500				
TechKit	\$4,200	\$0	\$0	\$0	\$0	\$4,200				
Textbooks	\$400	\$0	\$0	\$0	\$0	\$400				
Technology Fee	\$200	\$0	\$200	\$0	\$0	\$400				
Total per Semester	\$11,100	\$6,825	\$6,500	\$8,925	\$3,150	\$36,500				
Graphic Design, B.S.	Semester 1	Semester 2	Semester 3	Semester 4	Semester 5	Semester 6	Semester 7	Semester 8	Semester 9	Program Total
Tuition	\$5,100	\$5,100	\$5,100	\$6,375	\$6,375	\$6,375	\$5,100	\$6,375	\$5,100	\$51,000
TechKit	\$4,900	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$4,900
Textbooks	\$400	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$400
Technology Fee	\$200	\$0	\$200	\$0	\$200	\$0	\$0	\$0	\$0	\$600
Total per Semester	\$10,600	\$5,100	\$5,300	\$6,375	\$6,575	\$6,375	\$5,100	\$6,375	\$5,100	\$56,900
Entertainment Business, B.S.	Semester 1	Semester 2	Semester 3	Semester 4	Semester 5	Semester 6	Semester 7	Semester 8	Semester 9	Program Total
Tuition	\$5,100	\$5,100	\$5,100	\$6,375	\$5,100	\$6,375	\$6,375	\$6,375	\$5,100	\$51,000
TechKit	\$3,400	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$3,400
Textbooks	\$400	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$400
Technology Fee	\$200	\$0	\$200	\$0	\$200	\$0	\$0	\$0	\$0	\$600
Total per Semester	\$9,100	\$5,100	\$5,300	\$6,375	\$5,300	\$6,375	\$6,375	\$6,375	\$5,100	\$55,400
Digital Filmmaking, B.S.	Semester 1	Semester 2	Semester 3	Semester 4	Semester 5	Semester 6	Semester 7	Semester 8	Semester 9	Program Total
Tuition	\$5,100	\$5,100	\$5,100	\$6,375	\$5,100	\$6,375	\$6,375	\$6,375	\$5,100	\$51,000
TechKit	\$10,500	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$10,500
Textbooks	\$400	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$400
Technology Fee	\$200	\$0	\$200	\$0	\$200	\$0	\$0	\$0	\$0	\$600
Total per Semester	\$16,200	\$5,100	\$5,300	\$6,375	\$5,300	\$6,375	\$6,375	\$6,375	\$5,100	\$62,500

6363 Sunset Blvd | Hollywood, CA | 90028 | 323.860.0789 | www.lafilm.edu

CAMPUS PROGRAMS – INTERNATIONAL STUDENTS

Computer Animation, A.S.	Semester 1	Semester 2	Semester 3	Semester 4	Semester 5	Program Total
Tuition	\$10,000	\$10,000	\$10,000	\$10,000	\$4,000	\$44,000
Security Deposit	\$400	\$0	\$0	\$0	\$0	\$400
TechKit	\$4,000	\$0	\$0	\$0	\$0	\$4,000
Textbooks	\$250	\$400	\$250	\$0	\$0	\$900
Technology Fee	\$0	\$0	\$0	\$0	\$0	\$0
Graduation Fee	\$0	\$0	\$0	\$0	\$20	\$20
Total per Semester	\$14,650	\$10,400	\$10,250	\$10,000	\$4,020	\$49,320
Film, A.S.	Semester 1	Semester 2	Semester 3	Semester 4	Semester 5	Program Total
Tuition	\$9,460	\$9,460	\$13,400	\$10,250	\$4,730	\$47,300
Security Deposit	\$400	\$0	\$0	\$0	\$0	\$400
TechKit	\$4,500	\$0	\$0	\$0	\$0	\$4,500
Textbooks	\$250	\$100	\$250	\$0	\$0	\$600
Technology Fee	\$200	\$0	\$200	\$0	\$0	\$400
Graduation Fee	\$0	\$0	\$0	\$0	\$20	\$20
Total per Semester	\$14,810	\$9,560	\$13,850	\$10,250	\$4,750	\$53,220
Music Production, A.S.	Semester 1	Semester 2	Semester 3	Semester 4	Semester 5	Program Total
Tuition	\$7,150	\$7,150	\$7,150	\$9,350	\$3,850	\$34,650
Security Deposit	\$400	\$0	\$0	\$0	\$0	\$400
TechKit	\$4,200	\$0	\$0	\$0	\$0	\$4,200
Textbooks	\$250	\$0	\$250	\$100	\$0	\$600
Technology Fee	\$200	\$0	\$200	\$0	\$0	\$400
Graduation Fee	\$0	\$0	\$0	\$0	\$20	\$20
Total per Semester	\$12,200	\$7,150	\$7,600	\$9,450	\$3,870	\$40,270
Recording Arts, A.S.	Semester 1	Semester 2	Semester 3	Semester 4	Semester 5	Program Total
Tuition	\$6,600	\$8,800	\$7,700	\$6,600	\$3,300	\$33,000
Security Deposit	\$400	\$0	\$0	\$0	\$0	\$400
TechKit	\$3,600	\$0	\$0	\$0	\$0	\$3,600
Textbooks	\$250	\$0	\$250	\$200	\$0	\$700
Technology Fee	\$200	\$0	\$200	\$0	\$0	\$400
Graduation Fee	\$0	\$0	\$0	\$0	\$20	\$20
Total per Semester	\$11,050	\$8,800	\$8,150	\$6,800	\$3,320	\$38,120

Entertainment Business, B.S. Completion	Semester 1	Semester 2	Semester 3	Semester 4	Semester 5	Program Total
Tuition	\$6,600	\$6,600	\$8,250	\$8,250	\$3,300	\$33,000
Security Deposit	\$40	\$0	\$0	\$0	\$0	\$40
TechKit	\$0	\$0	\$0	\$0	\$0	\$0
Textbooks	\$200	\$0	\$200	\$0	\$100	\$500
Technology Fee	\$200	\$0	\$200	\$0	\$0	\$400
Graduation Fee	\$0	\$0	\$0	\$0	\$20	\$20
Total per Semester	\$7,040	\$6,600	\$8,650	\$8,250	\$3,420	\$33,960

THE LOS ANGELES FILM SCHOOL $^{\otimes}$ 6363 Sunset Blvd | Hollywood, CA | 90028 | 323.860.0789 | www.lafilm.edu

Animation, B.S.	Semester 1	Semester 2	Semester 3	Semester 4	Semester 5	Semester 6	Semester 7	Semester 8	Semester 9	Program Total
Tuition	\$10,310	\$10,310	\$10,310	\$10,310	\$8,250	\$8,250	\$8,250	\$8,250	\$8,260	\$82,500
Security Deposit	\$400	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$400
TechKit	\$4,400	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$4,400
Textbooks	\$250	\$400	\$250	\$0	\$0	\$0	\$0	\$0	\$0	\$900
Technology Fee	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$0
Graduation Fee	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$20	\$20
Total per Semester	\$15,360	\$10,710	\$10,560	\$10,310	\$8,250	\$8,250	\$8,250	\$8,250	\$8,280	\$88,220
Entertainment Business, B.S.	Semester 1	Semester 2	Semester 3	Semester 4	Semester 5	Semester 6	Semester 7	Semester 8		Program Total
Tuition	\$7,430	\$7,430	\$7,430	\$7,430	\$7,430	\$7,430	\$7,430	\$7,430		\$59,440
Security Deposit	\$40	\$0	\$0	\$0	\$0	\$0	\$0	\$0		\$40
TechKit	\$3,400	\$0	\$0	\$0	\$0	\$0	\$0	\$0		\$3,400
Textbooks	\$200	\$0	\$200	\$0	\$100	\$0	\$0	\$0		\$500
Technology Fee	\$200	\$0	\$0	\$200	\$0	\$0	\$200	\$0		\$600
Graduation Fee	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$20		\$20
Total per Semester	\$11,270	\$7,430	\$7,630	\$7,630	\$7,530	\$7,430	\$7,630	\$7,450		\$64,000
Film Production, B.S.	Semester 1	Semester 2	Semester 3	Semester 4	Semester 5	Semester 6	Semester 7	Semester 8	Semester 9	Program Total
Tuition	\$8,580	\$8,580	\$12,160	\$9,300	\$8,580	\$10,730	\$10,730	\$8,580	\$8,580	\$85,820
Security Deposit	\$400	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$400
TechKit	\$5,000	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$5,000
Textbooks	\$250	\$100	\$250	\$0	\$0	\$0	\$0	\$0	\$0	\$600
Technology Fee	\$300	\$300	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$600
Graduation Fee	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$20	\$20
Total per Semester	\$14,530	\$8,980	\$12,410	\$9,300	\$8,580	\$10,730	\$10,730	\$8,580	\$8,600	\$92,440